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No B REH HA¥lniESE 3 L-134 + 9 L-137 EEE

Bqg. kg Bqg. kg Ba kg
1 FEH R6.11.13 = BmHEHE9(<8.3) BmRHEHE9(<6.9) :fanhcac
2 FEH R6.11.13 =S| BmHEHE9(<8.6) BmEHE9(<8.2) BmEEd
3 FiEH R6.11.13 = mRHEHE9(<8.9) BmRHEE9(<8.2) BRHET
4 f=Em™ R6.11.13 =S mHEHE9(<6.5) BRHET(<L6.1) BRHET
5 JIHRET R6.11.13 =S| BRHET(<7.2) BRHET(<L7.5) BmHEd
6 JI{R=HET R6.11.13 =S| BRHET(1.7) BRHE9(<8.0) BmHET
7 KEHR R6.11.13 =S| BRHET(<8.5) BRHET(<7.2) BRHEET
8 KEFH R6.11.13 45 BRHET(<L8.7) BmREE9(<1.7) - Janpcac
9 KEH R6.11.13 =S| BmHEHE9(<9.0) BmHEHE9(<8.7) - Janpcac
10 AEMH R6.11.13 =S| BmHEHE9(<8.8) BmRHEHE9(<6.4) BmEEd
11 ZARWT™H R6.11.13 = RHEHE9(<8.3) BREE9(<74) BRHET
12 N /N ] R6.11.13 =S| BRHEET(<L75) BRHEEY(<72) ;- darkcac
13 . /N ] R6.11.13 =S| BRHET(<7.9) BRHEI(L1.7) BmHEd
14 WhEh R6.11.13 =S| BRHE3(<L7.6) BRHE9(<6.7) BRHET
15 LWhEth R6.11.13 =S| BRHET(<8.3) BRHET(<L7.4) BRHEET
16 E%A™ R6.11.13 =S BmREHE9(<9.2) BmHEtH9(<85) - Janhcac




BREMHR

No S R A e UYL t> 9 L-134 t 9 4-137 SHiE

Bqg kg Bg kg Ba kg
17 EZAT™ R6.11.13 =S| BRHE9(<L7.5) BRHE9(<7.8) Eanhcac
18 BT R6.11.13 4R BRHE9(<9.6) BRHE9(<8.5) BmRHEd

BRBEEERICETA—HBESOEEE 9L :100Ba/kg(HL-134, L9 L-13TDHEE)




